- o o iy ; o ’ '
4. (1,5) Seja f(z,y) = ,‘"—xzf_ B (=9) %\{(O‘,O) L
. \ 0 se (z;9) =(0,0)

Veriﬁquye;se f € continua em (0,0) e se f & diferencigvel em (0, 0). oyt
(u)o)‘- o . S ( :g
J( | | x (o 0).C
.c. wn"\huq. e (0,0) /3—2.3 m f- ’3’)

, é

\L.mos e‘uicf Uﬁ"-—'wf\car o exxw.s-\en CAG\_ (°°T'°b°3 de "m%
Se ¢, = (%, o) - e,njrog ‘C (0) = (9 o) e |
L@ é Len'sn'nuo. e,tfn f% S R
j((’(«\-\\ ?;0__ oy o ~9e ’&4: Q Loao
}*"‘ j:C’@ (‘ﬂ\ |
RINesy

=0,

FOo L

~ t—vo | R gy, |
,nsm se Gy G -(+. H \e 5m&>em d wn*ﬂw% .
,mmj; .0 £ \O CD\_(O o) , R
56‘4&&\\ 4_; — (= Q V # +0 .+ Leg
m §08 (+\3 = _5_.—_- LQJ S
c.,m L, # LJ) ﬁ»m o L3 wko ensTE L
| Cx,a) — (0, o) X +3 :

hssxm f NE 4 Ubh‘L(hua.. "em (0 0)

fNP\'\-f) e. cjn{evenu&\)ep e CQ;OB ?ms w£ /e "ﬁem e

Coansn"nuo. }em CO 0) |



